

F-1 INTERNATIONAL STUDENT GENERAL AFFIDAVIT OF SUPPORT

Directions

READ all information and then complete the form in its entirety for each sponsor including self-funded students. This form must be completed individually for each student sponsor. If the student is self-funded, the student must also complete this form individually. The financial statements must match the submitted affidavit of support. This form must be completed electronically. Please download Adobe Acrobat Reader DC (free version) and complete form by using the pen function in the toolbar. The "IAb" button will allow you to type in the space provided and the "Sign Yourself" button will allow you to provide the necessary electronic signatures. The X and v will allow you to mark appropriate boxes. Please download the form to your desktop and "open with" Adobe Acrobat Reader DC. Opening in a web browser extension does not allow for the functionality to complete the form electronically. INCOMPLETE AND/OR HANDWRITTEN AFFIDAVITS WILL NOT BE ACCEPTED.

$\overline{}$	
de	100
850A	1-0
	Ø.

[Ab X V O - •	0
---------------	---



Statement of Purpose of this Document

International students must provide financial evidence showing the student or sponsor(s) have sufficient funds to cover full tuition and expenses for their first year of study before UMSL can issue an I-20 or DS-2019. Though the requirement of evidence is only for one academic year, funding from the student or the sponsor must be available during the entire period of intended study. This form is intended to accompany the financial statements for the first year of study as evidence that the student and/or sponsor(s) are aware of the financial and legal obligations during and beyond the first year of study until the completion of the student's program of study.

Student Legal Biographical Information – Please complete ALL fields

For address, please provide as many	<u>details as possible, including house nι</u>	umber, flat/apt number, street name, z	one, province, postal code etc.				
Family/Last/Surname(s) (if the stude	nt has 1 name, please type here)	Given/First/Forename(s) (if the student has 1 name, please type FNU)					
Permanent Living Address in Home Country (<u>cannot be a PO BOX</u>)		City, County, Province/State, Country, Postal Code - Permanent Address					
Student Personal Email Address (email the student checks personally)		Student Personal Phone Number with Country Code					
		+()-					
Passport Country of Issuance	Passport Number	Country of Citizenship	Country of Birth				
City of Birth	Date of Birth - MM/DD/YYYY	Planned Level of Program	Bachelor Only (choose one)				
	1 1	□Bachelor □Master □Doctor	□Freshman □Transfer				
I currently have an active SEVIS Record with another institution (for students transferring their SEVIS Record to UMSL)	I currently have an initial status SEVIS Record with UMSL (for students deferring to a new semester)	Planned Major of Program	Planned Semester to Start				
□YES □NO	□YES □NO		□FALL □SPRING 20				

Dependents

Does the student plan to bring dependents with them?	□YES	□NO
If yes, Number of Dependents:		
 If yes, check all that apply: 	□SPOUSE	□CHILD < unmarried, under 21 years of age>
\$4000 for each dependent must be added the total amount	shown on fi	nancial documents.
Additional documents are required for each planned dependen	t and will be a	addressed separately.

Required Documentation

All financial statements must be less than 6 months old from the date of submission of affidavit of support and statement. All documents older than 6 months will be rejected. If student defers admission, updated financial statements will be required.

Bank Statement

Bank statements must clearly indicate the financial institution's name, the account holder's name, the account balance, and type of currency. Statements must show liquid assets only. Bank letters must be on letterhead.

Government / Employer Funding

An official award letter on letterhead that clearly indicates the provider, the student's name, the amount of the award, the duration of the award, and that the award is valid for study at UMSL.

Loans

- An official letter on letterhead from the financial institution that clearly indicates the student's name and amount of award.
- Conditional loan approvals will be accepted only if the condition is the receipt of your I-20 or DS-2019 and is clearly stated **External Scholarship**
- An official award letter on letterhead that clearly indicates the scholarship provider, the student's name, the amount of the award, the duration of the award, and that the award is valid for study at UMSL.
- Students will not be awarded a merit scholarship from UMSL Global, until the student provides evidence of funding for the entire estimate for one year of study.



Funding

F-1 INTERNATIONAL STUDENT GENERAL AFFIDAVIT OF SUPPORT

1		am fun	ding my educational and living exp	ancae in tha LIC I	ov.
TYPE FULL LEGAL NAME C	F STUDENT	AS PROVIDED ON PAGE 1>	uning my educational and living exp	C11969 III [116 [19]	Jy.
Choose One Only					
☐ Self-Funding	<u>OR</u>	☐ Sponsor-Funding <u>C</u>	DR Doth Self-Funding A	ND Sponsor-Fu	nding
			rganization funding the student's post have an individual affidavit to acc		
completed. Please consupport. If there is a	t for each omplete t different :	his area for the documents being s sponsor named on different docum	ne sponsor has multiple documents submitted by the sponsor associate tents, an affidavit must be completed. L Global recommends		

Sponsor Attestation

This is to certify that I, the undersigned, have agreed to provide the funds indicated above to fund the financial expenses of the above-mentioned student for the purpose of full-time study at the University of Missouri-Saint Louis (UMSL). I am submitting financial statements verifying the availability of these funds. I understand that the applicant is not eligible for financial aid and that UMSL cannot provide need-based financial assistance or a guarantee of on-campus employment. I further understand that I must provide these funds for the duration of the applicant's course of study and that if the commitment is not met, the student is subject to dismissal from UMSL for non-payment.

+(

Organization Contact - Email Address (if sponsor is not an individual)

Date: DD/MONTH/YYYY <ex: 23/January/2018>

Organization Contact - Phone Number with Country Code



F-1 INTERNATIONAL STUDENT GENERAL AFFIDAVIT OF SUPPORT

Self-Funded

Full Legal Signature of Student

<TYPE Initials Here>

Important Financial Information

• The United States' federal government limits work opportunities available to international students. Students should not plan to subsidize their expenses through employment.

I must provide the full amount of tuition and expenses on the financial statements I provide based on my program of study

- International students are not eligible for federal financial aid or domestic scholarship programs.
- There are no need-based scholarship programs for international students at UMSL.
- If the student receives a merit-based scholarship from UMSL Global, the amount of the award cannot be increased and if guidelines of the scholarship are not followed, the student will no longer be eligible for the scholarship.
- Student must demonstrate full tuition and expenses prior to eligibility for scholarships.

Final Student Acknowledgement

Student must read and sign here or form will be incomplete. If there are multiple sponsors, including a combination of self-funding and sponsor-funding, the student must complete and sign every affidavit submitted.

- I certify that the information on this form is complete and accurate to the best of my knowledge.
- I am aware that false information will result in denial or cancelation of my I-20 / DS-2019 and enrollment.
- I understand that international students are not eligible for federal financial aid, need-based scholarship programs, or domestic scholarship programs.
- I acknowledge that the United States' federal government limits work opportunities available to international students and that I should not plan to subsidize my studies through employment.
- If I receive a merit-based scholarship from UMSL Global, I understand that the amount of my award cannot be increased and if guidelines of the scholarship are not followed, I will no longer be eligible for the scholarship.
- I understand that UMSL reserves the right to cancel the registrations in all my courses if the University has not received and processed the required minimum payment for my assessed fees by announced deadlines, which has implications for my ability to maintain my legal non-immigrant status.

Full Legal Signature of Student	Date: DD/MONTH/YYYY <ex: 2018="" 23="" january=""></ex:>

Date: DD/MONTH/YYYY <ex: 23/January/2018>



F-1 INTERNATIONAL STUDENT GENERAL AFFIDAVIT OF SUPPORT

Program	Months per Academic Year	24/25 Tuition per Credit Hour	Credit Hours per Academic Year	Estimated Tuition Total	Estimated Fees Total	24/25 Tuition + Fees Total	Living	Estimated Health Insurance	Estimated Books & Supplies	24/25 Expenses Total	24/25 Total Financial for I-20
Indergraduate											
Arts & Sciences; Education; Social Work	9	\$1,242	24	\$29,808	\$200	\$30,008	\$15,811	\$2,842	\$1,313	\$19,966	\$49,974
Business	9	\$1,306	24	\$31,344	\$200	\$31,544	\$15,811	\$2,842	\$1,313	\$19,966	\$51,510
Nursing (BSN)	9	\$1,350	24	\$32,400	\$200	\$32,600	\$15,811	\$2,842	\$1,313	\$19,966	\$52,566
Engineering (BSCIE, BSEE, BSME)	9	\$1,360	24	\$32,640	\$200	\$32,840	\$15,811	\$2,842	\$1,313	\$19,966	\$52,806
Graduate (Master and Doctorate)											
Arts & Sciences; Social Work	9	\$1,519	18	\$27,342	\$200	\$27,542	\$15,811	\$2,842	\$1,313	\$19,966	\$47,508
Education	9	\$1,568	18	\$28,224	\$200	\$28,424	\$15,811	\$2,842	\$1,313	\$19,966	\$48,390
Business	9	\$1,680	18	\$30,240	\$200	\$30,440	\$15,811	\$2,842	\$1,313	\$19,966	\$50,406
Nursing	9	\$1,805	18	\$32,490	\$200	\$32,690	\$15,811	\$2,842	\$1,313	\$19,966	\$52,656
Graduate (Special Tuition Rates)											
IMBA	12	\$1,680	30	\$50,400	\$200	\$50,600	\$15,811	\$2,842	\$1,313	\$19,966	\$70,566
IMBA 3+2	12	\$1,306	30	\$39,180	\$200	\$39,380	\$15,811	\$2,842	\$1,313	\$19,966	\$59,346
DBA	12	\$1,748	24	\$41,952	\$200	\$42,152	\$15,811	\$2,842	\$1,313	\$19,966	\$62,118
Optometry OD	9	\$1,490	32	\$47,680	\$2,000	\$49,680	\$15,811	\$2,842	\$1,313	\$19,966	\$69,646
Dependents											
Spouse	\$4,000	for spouse									
Child	\$4,000	for <u>each</u> chi	ld								
lotes											
uition, fees, and expenses are based on projected estimates for the 2024/2025 academic year and are subject to increase.								ISL	$ C _{\sim}$	ha	
Il projections are estimated.									וווו	(TII	אנוונ
Estimates are based on minimum <u>required</u> credit hours per federal regulations and/or specific academic program requirements.											
linimum credit hour requirements for scholars	ship recipient	s and academ	ic programs i	may differ fro	m minimum re	gulation requi	rements.	unive	rsity of N	iissouri–	ot. Loui